Study questions for Case # 2 – The Solar Feeder

1. How many units of the Country Model did SDI sell in 1999?  How many units of the Town Model?  What are the respective percentages of total units sold for the two models?

2. What are the wholesale prices for the Country Model and the Town Model?  Multiplying wholesale price by percentage of total units sold for both models, and adding the results, what is average unit revenue?

3. What is the estimated cost of production for each of the two models (the text gives a range – take the middle of each range)?  Multiplying the estimated cost of production by percentage of total units sold for both models, and adding the results, what is the average cost of units sold?

4. Subtracting average cost of units sold from average unit revenue, what is the average unit contribution to SDI’s profit.  Assume that cost of goods sold as we have calculated it here includes all variable costs.

5. What are the company’s fixed costs for 1999 (see exhibit 10 under Expenses)?

6. Dividing average unit contribution into 1999 fixed costs, what is the break-even point for SDI in terms of number of units they need to produce and sell?  How does this compare with total units sold in 1999?    What might they do to try to get there?

7. Produce a mission statement, vision statement, and set of objectives for SDI.

8. Produce a list of all the good business practices that SDI has neglected in order to get into their current mess.   Is the product a good idea?   If so, then why are they doing so badly?  What does this tell us about the general idea of strategic management?

